ITEM#EAMY
Description: PEDESTAL END TABLE @
Best Master Furniture”

I M P O R T A N T N O T E : The Imported Furniture Specialist

+Place all wooden parts on a clean and smooth surface
as a rug or carpet to avoid the parts from being scratched.
«Check to be sure that you have all parts and hardware.
Remove all wrapping materials, including staples & packing
straps before you start to assemble.
«Do not tighten all screws/bolts until all completely assembled.
«Keep all hardware parts out of reach of children.

PARTS LIST HARDWARE LIST
NO. COMPONENT QTY.| [NO. DESCRIPTION QTY.
A |M4x100MM ALLENKEY [T | 1Pcs

1 PCS

i Bl ok @ B | M6 x 30MM SCREW @—mm | 8PCS
: C | M6 x 50MM SCREW @—mm | 4pCS
2 |LOWER STRETCHER % 1pcs| | D | M6 x 13MM SPRING WASHER 0 |12pcs
E | M6 x 19MM FLAT WASHER @ 8 PCS
3 |LEG ASSEMBLY W ,pcs| | F | D SHAPE SPACER L) | 4pcs
G | M10 x 30MM WOOD DOWEL &) 2PCs

/\TIP OVER HAZARD

PLACE THE PEDESTAL LEG ON SMOOTH
AND FLAT SURFACE DURING ASSEMBLY

PLEASE LAY TABLE TOP ON SOFT,
CLEAN SURFACE TO ASSEMBLE

For Your Safety!

www.bestmasterfurnitures.com



